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 GENERAL INTELLIGENCE
Directions for question 1 to 3 : Select the related
letters/word/number from the given alternatives.

ØeMve mebKÙee 1 mes 3 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
mebyebefOele De#ejeW/Meyo/mebKÙee keâes ÛegefveS~

1. ABNO : CDPQ :: EFRS : ?
(a) IVKS (b) GITV (c) JWXY (d) GHTU

2. KEY : LOCK :: SWITCH : ?
Ûeeyeer : leeuee :: efmJeÛe : ?
(a) BOARD/yees[& (b) FAN/hebKee
(c) ELECTRICITY/efyepeueer (d) ON/Dee@ve

3. 56 : 29 :: 38 : ?
(a) 20 (b) 10 (c) 18 (d) 21

Directions for question 4 to 7 : Find the odd
number/letters/number pair/word from the given
alternatives.

ØeMve mebKÙee 4 mes 7 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
efJe<ece mebKÙee/De#ej/mebKÙee Ùegice/Meyo ÛegefveS~
4. (a) 8-64 (b) 12-144 (c) 17-279 (d) 13-169
5. (a) Petrol-Car/hesš^esue-keâej (b) Ink-Pen/mÙeener-hesve

(c) Garbage-Dustbin/ketâÌ[e-ketâ[soeve
(d) Lead-Pencil/uew[ (meermee)-heWefmeue

6. (a) BDCB (b) CDEC (c) GHIG (d) PQRP
7. (a) 589 (b) 886 (c) 697 (d) 398
8. A series of figures are given which can be

grouped into classes. Select the group into
which the figures can be classified from the
given responses.
veerÛes Deeke=âefleÙeeW keâe Deveg›eâce efoÙee ieÙee nw efpevekeâe JeieeX ceW mecetnve
efkeâÙee pee mekeâlee nw~ efoS ieS efJekeâuheeW ceW mes Gme mecetn keâes ÛegefveS
efpemeceW Deeke=âefleÙeeW keâes Jeieeake=âle efkeâÙee pee mekeâlee nw~

(a) 2, 3, 6; 1, 4, 9 ; 5, 7, 8
(b) 1, 3, 8 ; 2, 5, 7 ; 4, 6, 9
(c) 1, 4, 7 ; 2, 3, 6 ; 5, 8, 9
(d) 1, 4, 6 ; 2, 3, 9; 5, 7, 8

Directions for question 9 and 10 : Series is given with
one term missing. Choose the correct alternative from
the given ones that will complete the series.

ØeMve mebKÙee 1 Deewj 3 kesâ efueS efveoxMe : Skeâ Deveg›eâce efoÙee nw efpemeceW
Skeâ heo ueghle nw~ efoS ieS efJekeâuheeW ceW mes Jen mener efJekeâuhe ÛegveW pees
Deveg›eâce keâes hetje keâjs~
9. AFK, EJO, INS, ?

(a) CGL (b) MRW (c) GIJ (d) TWZ
10. 3, 4, 12, 13, 39, 40, 120, ?, ?

(a) 121, 363 (b) 121, 343 (c) 360, 121 (d) 360, 361
11. In the morning, at 6 a.m., Anoop walked 50 m

towards the Sun, then turned right and walked
40 m, then again turned right and walked 20 m,
then again turned right and walked 40 m. How
many metres is he from  his starting place?
Øeele: 6 yepes Devethe metÙe& keâer Deesj cegBn keâjkesâ 50 ceer0 Ûeuee, efheâj
oeÙeW cegÌ[e Deewj 40 ceer0 Ûeuee, efheâj oeÙeW cegÌ[e Deewj 20 ceer0
Ûeuee, efheâj oeÙeW cegÌ[keâj 40 ceer0 Ûeuee~ Jen Deheves ØeejbefYekeâ
mLeeve mes efkeâleves ceeršj otj nw?
(a) 20 metres/ceeršj (b) 30 metres/ceeršj
(c) 50 metres/ceeršj (d) 60 metres/ceeršj

12. Which number is wrong in the given series?
efoS ngS Deveg›eâce ceW keâewve-meer mebKÙee ieuele nw?
5, 10, 19, 29, 41, 55
(a) 41 (b) 55 (c) 29 (d) 10

13. Series is given, with some missing terms
choose the correct alternative from the given
ones that will complete the series.
efoS ieS Deveg›eâce ceW kegâÚ heo ueghle nw~ efoS ieS efJekeâuheeW ceW mes Jen
mener efJekeâuhe ÛegefveS pees Deveg›eâce keâes hetje keâjs~
p_r_no_qrm_opq
(a) qmpnr (b) nqmpr (c) mprqn (d) mpnrq

14. Q’s sister A, Z’s brother is R. V is the mother of
A and R is the brother of Q. How is Z related to
V?
Q keâer yenve A nw, Z keâe YeeF& R nw~ V A,  keâer ceelee nw Deewj
R Q,  keâe YeeF& nw~ Z keâe V mes keäÙee mebyebOe nw?
(a) Son/heg$e (b) Daughter/heg$eer
(c) Son or Daughter/heg$e Ùee heg$eer
(d) None of these/FveceW mes keâesF& veneR
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15. If in a certain code, “TWENTY” is written as
‘863985’, “ELEVEN” is written as ‘323039’, how
is “TWELVE” written in that code?
Ùeefo efkeâmeer ketâš Yee<ee ceW “TWENTY” keâes ‘863985’ efueKee
peeS Deewj “ELEVEN” keâes ‘323039’ efueKee peeS, lees Gme
ketâš Yee<ee ceW “TWELVE” keâes efkeâme Øekeâej efueKee peeSiee?
(a) 863203 (b) 863584
(c) 863903 (d) 863063

16. Rashmi is younger than Sunita but older than
Radha. Radha is elder than Geeta. Shyam is
elder than Radha but younger than Rashmi.
Who is the youngest amongst them?
jefMce, megveerlee mes DeeÙeg ceW Úesšer nw ceiej jeOee meW yeÌ[er nw~ jeOee,
ieerlee mes yeÌ[er nw~ MÙeece, jeOee mes yeÌ[e nw ceiej jefMce mes Úesše nw~
Fve meyeceW meyemes Úesše keâewve nw?
(a) Radha/jeOee (b) Geeta/ieerlee
(c) Rashmi/jefMce (d) Shyam/MÙeece

17. Choose one word out of the given alternatives
which can be formed from the letters of the
word.
efoS ieS efJekeâuheeW ceW mes Jen Meyo ÛegefveS pees efvecveefueefKele Meyo kesâ
De#ejeW mes yeve mekeâlee nw :
‘REFRIGERATOR’
(a) RANGER (b) REMOTE
(c) RATION (d) REFER

18. Amit is the 5th from the left end in a row,
Sumit is 4th from the right end in the same
row. Only 2 persons are sitting between them.
What is the maximum number of persons in
that row?
Deefcele Skeâ hebefkeäle ceW yeeFË Deesj mes heeBÛeJee mLeeve hej nw~ Gmeer hebefkeäle
cebs oeF& Deesj mes megefcele keâe mLeeve ÛeewLee nw~ kesâJeue 2 JÙeefkeäle Fve
oesveeW kesâ ceOÙe yew"s nQ~ hebefkeäle ceW DeefOekeâlece efkeâleves JÙeefkeäle nQ?
(a) 12 (b) 10
(c) 11 (d) 13

19. If a mirror is placed on the line AB then which
of the answer figures is the right image of the
given question figure?
Ùeefo efkeâmeer ohe&Ce keâes jsKee AB hej jKee peeS lees oer ieF& Gòej
Deeke=âefleÙeeW cebs mes keâewve-meer Deeke=âefle ØeMve Deeke=âefle keâe mener
Øeefleefyecye nesieer
Questions Figures/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

(a) (b)

(c) (d)

20. Select the missing number from the given
responses.
efoS ieS efJekeâuheeW ceW ueghle mebKÙee %eele keâerefpeS~

7 8 9
9 4 5
3 9 ?

189 288 90
(a) 2 (b) 3 (c) 1 (d) 4

21. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in the
alternatives are represented by two classes of
alphabets as in the matrix given below. The
columns and rows of Matrix-I are numbered
from 0 to 4 and that of Matrix-II from 5 to 9. A
letter from the matrix can be represented frist
by its row and next by its column, e.g., ‘M’ can
be represented by 00, 12., and ‘G’ can be
represented by 55, 69, etc. Similarly, you have
to identify the set for the word ‘MOUNT’.
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee
efkeâ efJekeâuheeW ceW mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW ceW efoS
ieS mebKÙee mecetn, De#ejeW kesâ oes JeieeX Éeje oMee&S ieS nQ, pewmee efkeâ
veerÛes efoS ieS cewefš^keäme ceW nw~ cewefš̂keäme-I kesâ mlecYeeW Deewj hebefkeäleÙeeW
keâer mebKÙee 0 mes 4 oer ieF& nw Deewj cewefšk̂eäme-II keâer 5 mes 9~
cewefšk̂eäme mes Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj efheâj mlecYe
mebKÙee Éeje yeleeÙee pee mekeâlee nw~ GoenjCe kesâ efueS ‘M’ keâes 00,
12 Deeefo Éeje yeleeÙee pee mekeâlee nw leLee ‘G’ keâes 55, 69, Deeefo
Éeje yeleeÙee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes Meyo kesâ efueS
mebKÙee mecetn ‘MOUNT’ keâes henÛeevevee nw~

Matrix-I Matrix-II

0 1 2 3 4 5 6 7 8 9

0 M O X Z U 5 G H T K N

1 U Z M O X 6 T K H N G

2 O X Z U M 7 H N K G T

3 Z M U X O 8 K T N H G

4 X U O M Z 9 N K G T H

(a) 24, 31, 10, 59, 57 (b) 12, 20, 40, 68, 65
(c) 31, 34, 23, 76, 79 (d) 43, 42, 41, 79, 79

22. Some equations are solved on the basis of a
certain system. On the same basis find out the
correct answer for the unsolved equation.
kegâÚ meceerkeâjCe efkeâmeer efJeMes<e ØeCeeueer kesâ DeeOeej hej nue efkeâS
ieS nw~ Gmeer DeeOeej hej nue ve efkeâS ieS meceerkeâjCe keâe mener
Gòej %eele keâerefpeS~
133 70 426 120, , then 565 ?
(a) 120 (b) 160 (c) 26 (d) 135
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23. From the given answer figures, select the one
in which the question figure is hidden/
embedded.
oer ieF& Gòej Deeke=âefleÙeeW ceW mes Gme Skeâ keâes ÛegefveS, efpemeceW ØeMve
Deeke=âefle efveefnle nw~
Question Figure/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

24. Which answer figure will complete the
question figure?
efvecveefueefKele ceW mes efkeâme Gòej Deeke=âefle Éeje ØeMve Deeke=âefle hetjer
nesieer?
Question Figure/ØeMve Deeke=âefle :

Answer Figure/Gòej Deeke=âefleÙeeB :

25. Which of the given diagrams correctly
represents the relationship between Flowers,
Lotuses and Roses?
efoS ieS DeejsKeeW ceW mes keâewve-mee DeejsKe hetâueeW, keâceueeW Deewj
iegueeyeeW kesâ yeerÛe kesâ mebyebOe keâes mener Øekeâej mes oMee&lee nw?

(a) (b)

(c) (d)

 GENERAL AWARENESS
26. Which Veda is devoted to music?

keâewve-mee Jeso mebieerle keâes meceefhe&le nw?
(a) Rig Veda/ $e+iJeso (b) Sama Veda/ meeceJeso
(c) Yajaur Veda/ ÙepegJexo (d) Atharva Veda/DeLeJe&Jeso

27. What is the Rigvedic name of the River
Jhelum?
Pesuece veoer keâe $e+iJesefokeâ veece keäÙee nw?
(a) Vitasta/ efJelemlee (b) Asikani/ Deefmkeâveer
(c) Vipasa/ efJeheemee (d) purushni/heg®<eCeer

28. In which year First Battle of Tarain took
place?
efkeâme Je<e& lejeF&ve keâe ØeLece Ùegæ ngDee Lee?
(a) 1194 (b) 1193 (c) 1192 (d) 1191

29. The Triratna is related to which religion?
ef$ejlve efkeâme Oece& mes mecyeefvOele nw?
(a) Jainism/ pewve Oece& (b) Buddhism/ yeewæ Oece&
(c) Persian/ heejmeer Oece& (d) Hinduism/efnvot Oece&

30. Baldness is caused by which fungi?
iebpeeheve efkeâme keâJekeâ kesâ keâejCe neslee nw?
(a) Tenia Pedes/ efšefveDee heer[me
(b) Taenia Capitis/ efšefveÙee kesâefheefšme
(c) Trycophyton/š^eFkeâes heâeFše@ve
(d) Acarus Scabies/Dekesâjme mkesâyeerpe

31. Which mineral is responsible for insulin
functioning?
keâewve-mee Keefvepe Fvmegefueve kesâ keâeÙe& keâjves kesâ efueS GòejoeÙeer nw?
(a) Cobalt/ keâesyeeuš (b) Copper/ leebyee
(c) Zinc/ efpebkeâ (d) Magnesium/ cewiveerefMeÙece

32. Which Hormone controls the growth of the
body, especially the growth of bones?
keâewve-mee ne@ceexve Mejerj keâer Je=efæ keâes, efJeMes<elee: nefñÙee keâer Je=efæ
keâes, efveÙeefv$ele keâjlee nw?
(a) STH Hormone/ SmešerSÛe ne@ceexve
(b) GTH Hormone/ peeršerSÛe ne@ceexve
(c) TSH Hormone/ šerSmeSÛe ne@ceexve
(d) FSH Hormone/ SheâSmeSÛe ne@ceexve

33. Which part of the brain controls the pain?
ceefmle<keâ keâe keâewve-mee Yeeie keâ° keâes efveÙeefv$ele keâjlee nw?
(a) Cerebrum/ Øeceefmle<keâ (b) Thalamus/Lewuesceme
(c) Hypothalamus/DeOe§eslekeâ
(d) Cerebellum/Devegceefmle<keâefheb[

34. Which of the following does not take place in
the blood clotting?
efvecve ceW mes keâewve-mee jòeâ keâe Lekeäkeâe yeveves ceW meneÙelee veneR keâjlee
nw?
(a) Calcium/ kewâefuMeÙece (b) Thrombin/ LeÇesefcyeve
(c) Vitamin K/ efJešeefceve-kesâ
(d) Vitamin B12/ efJešeefceve yeer12

35. In the process of Nitrification Ammonia is
converted into which component?
veeFš̂erkeâjCe keâer Øeef›eâÙee ceW DeceesefveÙee efkeâme lelJe ceW yeoue peelee
nw?
(a) Nitrogen/veeFš^espeve (b) Nitrates/ veeFš^sšdme
(c) Nitrogen dioxide/ veeFš^espeve [eF&Dee@keämeeF[
(d) Nitrous oxide/ veeFš^me Dee@keämeeF[
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36. Which of the following is responsible for 'Bird
flu'?
efvecveefueefKele ceW mes keâewve-mee ‘ye[& heäuet’ keâe keâejkeâ nw?
(a) H N5 1 (b) H N1 1
(c) ZIKA (d) Retro

37. An inscription by which of the following is
found on the Pillar containing prayag Prasasti
of Samudragupta?
mecegõieghle kesâ ØeÙeece ØeMeefmle Jeeues mlecYe hej efvecveefueefKele ceW mes
efkeâmekeâe uesKe efceuelee nw?
(a) Jahangir/peneBieerj
(b) Shahjahan/ MeenpeneB
(c) Aurangzeb/ Deewjbiepesye
(d) Dara Shikoh/ oeje efMekeâesn

38. Who among the following wrote the book
"Politics  in India"?
efvecveefueefKele ceW mes efkeâmeves ‘‘hee@efueefškeäme Fve FefC[Ùee’’ hegmlekeâ
efueKeer nw?
(a) Rajni Kothari/ jpeveer keâes"ejer
(b) M.N. Srinivas/ Sce.Sve. ßeerefveJeeme
(c) Ashish Nandy/ DeeMeer<e vevoer
(d) D.L. Seth/ [er.Sue.mes"

39. Which one of the following cannot be the
ground for the proclamation of Emergency
under the Constitution of India?
efvecveefueefKele ceW mes keâewve-mee Skeâ YeejleerÙe mebefJeOeeve kesâ Devleie&le
Deeheele keâer GodIees<eCee keâe DeeOeej veneR nes mekeâlee nw?
(a) War/Ùegæ
(b) External aggression/yeeÜÙe Dee›eâceCe
(c) Armed rebellion/meMeŒe efJeõesn
(d) Internal disturbance/Deevleefjkeâ DeMeeefvle

40. Which of the following Five-Year Plans of
India recognized human development as the
core of developmental efforts?
efvecveefueefKele ceW mes efkeâme YeejleerÙe hebÛeJe<eeaÙe Ùeespevee ves meYeer
efJekeâemeelcekeâ ØeÙeemeeW kesâ meej kesâ ™he ceW ceeveJe efJekeâeme keâes
ceevÙelee oer ?
(a) Seventh Five-Year plan
(b) Eighth FIve-Year Plan
(c) Sixth Five-year plan
(d) Fifth Five-year plan

41. Which among the following states was the
largest producer of wheat in India in the year
2015-2016?
Je<e& 2015-16 ceW Yeejle keâe keâewve-mee jepÙe iesntB keâe meyemes yeÌ[e
Glheeokeâ jepÙe Lee?
(a) Haryana/nefjÙeeCee
(b) Uttar Pradesh/ Gòej ØeosMe
(c) Punjab/hebpeeye
(d) Bihar/efyenej

42. The net crop sown area in India is about-
Yeejle ceW heâmeueeW keâer yegJeeF& kesâ Devleie&le Megæ #es$eheâue nw ueieYeie-
(a)12 crore (b) 16 crore (c) 14 crore(d) 17 crore

43. Which one of the following particles has less
than 0.002 mm diameter?
efvecveefueefKele ceW mes efkeâme keâCe keâe JÙeeme 0.002 efceefce. mes keâce
neslee nw?
(a) Clay/eqÛekeâveer efceóer
(b) Silt/ ieeo
(c) Fine sand/cenerve yeeuet
(d) None of the above/GheÙeg&òeâ ceW mes keâesF& veneR

44. SEBI Act was passed in-
mesyeer DeefOeefveÙece heeefjle ngDee Lee-
(a) 1956 (b) 1962 (c) 1992 (d) 2013

45. The Negotiable Instruments Act came into
force from-
efJeefveÙece meeYÙe efJeuesKe DeefOeefveÙece ØeYeeJekeâejer ngDee-
(a) 1881 A.D/F&mJeer (b) 1882 A.D.
(c) 1883 A.D (d) 1884 A.D.

46. The position of India in the Sustainable
Development Goal Index declared in 2016 is-
2016 ceW Ieesef<ele mechees<eCeerÙe efJekeâeme ue#Ùe metÛekeâebkeâ ceW Yeejle keâe
mLeeve nw-
(a) 110th (b) 115th (c) 120th (d) 130th

47. As of July 2016, UNESCO has enlisted how
many world Heritage Sites in India?
pegueeF& 2016 lekeâ Ùetvesmkeâes ves Yeejle ceW efkeâleves efJeÕe Oejesnj mLeue
DeefOemetefÛele efkeâS nw?
(a) 37 (b) 36 (c) 35 (d) 34

48. Which one of the following is used in
production of explosives?
efvecveefueefKele ceW mes efkeâmekeâe GheÙeesie efJemheâesškeâ kesâ Glheeove ceW
efkeâÙee peelee nw?
(a) Glycerol (b) Methanol
(c) Urea (d) Oxalic Acid

49. Which one of the following is an important
component of a transistor?
efvecveefueefKele ceW mes keâewve-mee šê@efpemšj keâe Skeâ cenlJehetCe& Yeeie
nw?
(a) Arsenic/ Deemexefvekeâ (b) Germanium/pecexefveÙece
(c) Osmium/Dee@efmceÙece (d) Radium/jsef[Ùece

50. Which state has become the first Indian state
to adopt resolution on Demonetisation?
keâewve-mee YeejleerÙe efJecegõerkeâjCe keâe mebkeâuhe uesves Jeeuee henuee
jepÙe yeve ieÙee nw?
(a) Madhya Pradesh/ ceOÙe ØeosMe
(b) Chhattisgarh/ÚòeermeieÌ{
(c) Assam/Demece
(d) Haryana/nefjÙeeCee
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 MATHS
51. If a

a
1 4 2, then a

a
6

6
1 ?

Ùeefo a
a
1 4 2, lees a

a
6

6
1 ?

(a) 26910 (b) 27000
(c) 27910 (d) 25910

52. The value of 21 22 23 403 3 3 3. . . . . .  is —
21 22 23 403 3 3 3. . . . . .  keâe ceeve nQ~
(a) 628300 (b) 618300
(c) 682300 (d) 653200

53. What is the minimum multiply of 7 when
divided by 6, 8, 10, 12 and 14, leaves remainder
2 in each case ?
7 keâe vÙetvelece iegCepe keâewve meer mebKÙee nw efpemeceW 6, 8, 10, 12 leLee
14 mes Yeeie osves hej ØelÙeskeâ efmLeefle ceW 2 Mes<eheâue yeÛes~
(a) 11764 (b) 5952
(c) 5882 (d) 6888

54. A man invests 20%, 25% and 40% of his saving
out buy the shares of companies A, B and C
respectively. If company declared the profit of
15%, 10% and 8% on respectively investments
then the gets total profit of Rs. 12615. Find his
total saving.
Skeâ Deeoceer ves Deheveer yeÛele keâe 20 25%, % leLee 40% efveJesMe
›eâceMeŠ keâcheefveÙeeW A B,  leLee C kesâ MesÙej Kejeroves kesâ efueS
efkeâÙee~ Ùeefo keâcheefveÙeeB ›eâceMeŠ 15 10%, % leLee 8% keâe ueeYeebMe
Ieesef<ele keâjW, lees JÙeefòeâ keâes kegâue ueeYe ™. 12615 neslee nw~
Gmekeâer kegâue ueeYe ™. 12615 neslej nw~ Gmekeâer kegâue yeÛele efkeâleves
™heS nw~
(a) Rs. 1,40,000 (b) Rs. 1,55,000
(c) Rs. 1,50,000 (d) Rs. 1,45,000

55. On selling a 33 metres cloth, a salesman gets a
profit which is equal to selling price of 11
metres cloth. Find his percentage profit.
33 ceeršj keâhe[e yesÛeves hej JÙeeheejer 11 ceeršj keâhe[s kesâ efJe›eâÙe
cetuÙe kesâ yejeyej ueeYe keâceelee nw~ Gmekeâe ueeYe ØeefleMele %eele
keâerefpeS~
(a) 40% (b) 331

3
%

(c) 50% (d) 30%
56. When rate of simple interest is decreased from

5% to 4%, now a man invests Rs. 4000 more than
before and after 2 years his simple interest
remains same. Find his initial principal.
peye meeOeejCe yÙeepe oj 5% mes 4% nes peeleer nw~ leye Skeâ Deeoceer
henues keâer leguevee ceW ™. 4000 pÙeeoe efveJesMe keâjlee nw Deewj 2 Je<eeX
kesâ yeeo Gmekeâe meeOeejCe yÙeepe meceeve jnlee nw~ Gmekeâer DeejbefYekeâ
efveJesMe jeefMe keäÙee nQ~
(a) Rs. 8,000 (b) Rs. 16,000
(c) Rs. 24,000 (d) Rs. 10,000

57. At what rate per annum, the difference
between compound interest and simple
interest becomes Rs. 11.76 in two years, if
principal is Rs. 2400 ?
efkeâleves ØeefleMele Jeeef<e&keâ oj mes 2 meeue ceW Ûe›eâJe=efæ Deewj meeOeejCe
yÙeepe keâe Devlej ™. 11.76 nesiee, Ùeefo cetueOeve ™. 2400 nes~
(a) 7% (b) 81

3
% (c) 6 1

4
% (d) 6%

58. A and B together start a business investing
capital in ratio 5 : 4 : 10% of profit is diposited
into a trust and remaining profit is distributed
between them. If B's share is Rs. 1200, then
total profit will be—
A Deewj B efceuekeâj Skeâ JÙeJemeeÙe Meg™ keâjles nw leLee Gvekesâ efveJesMe
keâe Devegheele 5 4:  nw~ 10% ueeYe Skeâ šm̂š ceW oeve keâj efoÙee peelee
nw~ leLee Mes<e ueeYe keâes hetBpeer kesâ Devegheele ceW yeeBš efueÙee peelee nw~
Ùeefo B keâe efnmmee ™. 1200 nes, lees kegâue ueeYe nesiee—
(a) Rs. 4200 (b) Rs. 3600
(c) Rs. 3000 (d) Rs. 3200

59. A is 20% less efficient than B. If both of them
together can complete a work in 20 days, then
A and B alone can complete that work in —
A B,  mes 20% keâce me#ece nw~ Ùeefo oesveeW efceuekeâj efkeâmeer keâece keâes
20 efove ceW hetje keâj mekeâles nQ, lees A leLee B Deueie-Deueie Gme
keâece keâes efkeâleves efove ceW keâj mekeâles nQ~
(a) 36, 45 (b) 45, 36
(c) 40, 30 (d) 30, 40

60. Two pipes A and B can fill a tank in 24 minutes
and 32 minutes respectively. If both pipes are
opened together after how much time is pipe B
closed so that tank will fill in 18 minutes ?
oes heeFhe A Deewj B Skeâ šbkeâer keâes ›eâceMeŠ 24 efceveš leLee 32
efceveš ceW Yej mekeâles nw~ oesveeW heeFhe Skeâ meeLe Keesue efoÙes peeles nw~
efkeâleves efceveš yeeo heeFhe B keâes yevo keâj efoÙee peeÙes efkeâ hetjer šbkeâer
18 efceveš ceW Yej peeÙes~
(a) 6 (b) 8
(c) 14 (d) 10

61. Length of train A is half of the length of train B
and speed of A is twice that of B. In the same
direction, their relative speed os 90 km/hr. and
they cross each other in 90 seconds. Length of
each train is —
jsueiee[er A keâer uecyeeF&, jsueiee[er B keâer uecyeeF& keâer DeeOeer nw
leLee A keâer Ûeeue, B keâer Ûeeue keâer oesiegveer nw~ meceeve efoMee ceW
oesveeW keâer meehesef#ekeâ Ûeeue 90 meskebâ[ ceW heej keâj peeleer nw~ ØelÙeskeâ
iee[er keâer uecyeeF& nw—
(a) 350, 700 metres (b) 750, 1500 metres
(c) 400, 800 metres (d) 900, 1800 metres

62. Speed of stream of a river and speed of a boat
in still water are in ratio of 2 : 5. Speed of that
river and that of another boat in still water are
in ratio 3 : 4. The ratio of speed of both boats in
still water is —
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Skeâ veoer keâer Oeeje keâer Ûeeue leLee Meeeble peue ceW Skeâ veeJe keâer Ûeeue
ceW Devegheele 2 5:  nw~ Gmeer veoer keâer Oeeje keâer ÛeeueleLee DevÙe veeJe
keâer Meeble peue ceW Ûeeue ceW 3 4:  keâe Devegheele nw~ oesveeW veeJeeW keâer
Meevle peue ceW ÛeeueeW keâe Devegheele nQ~
(a) 10 : 7 (b) 4 : 3
(c) 15 : 8 (d) 5 : 4

63. The length of a rectangle is 2 cm more than its
width. If its perimeter is 44 cm, then find its
area ?
Skeâ DeeÙele keâer uecyeeF& Gmekeâer Ûeew[eF& mes 2 mesceer. DeefOekeâ nw~Ùeefo
Gmekeâe heefjceehe 44 mesceer. nw, lees Gmekeâe #es$eheâue keäÙee nesiee~
(a)180 cm2 (b) 160 cm2

(c) 120 cm2 (d) 88 cm2

64. A hollow sphere of lead having internal radius
8 cm and outer radius 12 cm. If 1 cm3  lead has
6.3 gram weight, the weight of hollow sphere is
—
MeerMes kesâ Skeâ KeesKeues ieesues keâer Deevleefjkeâ ef$epÙee 8 mesceer. leLee
yeenjer ef$epÙee 12 mesceer. nw~ Ùeefo 1 Ieve mesceer. MeerMes keâe Jepeve 6.3
«eece nes, lees KeesKeues ieesues keâe Jepeve keäÙee nw~
(a) 32102.4 grams (b) 33103.4 grams
(c) 32000grams (d) 31102.4 grams

65. There are two right angle triangles ABC and
BDC along the same side of base BC and
BAC BDC 90  and AC and BD interest at

point P. Then AP × PC = ?
meceeve DeeOeej BC kesâ Skeâ ner Deesj oes mecekeâesCe ABC Deewj
BAC BDC 90  leLee AC leLee BC Skeâ—otmejs keâes P

hej keâešles nw~ lees AP PC ?
(a) AB × PC (b) BP × PD
(c) AP × PD (d) None of these

66. ABP is a tangent of a circle at point B and BD
and BC are the two chords of the circle. If
DBP 60  and ABC 70 , then BDC ?

efkeâmeer Je=òe kesâ efyevog B hej ABP Skeâ mheMe& jsKee nw leLee BD
Deewj BC Je=òe keâer oes peerJeeSB nQ~ Ùeefo
DBP ABC60 70,  lees BDC ?

(a) 60° (b) 50°
(c) 70° (d) 65°

67. If tan (x + y). tan (x – y) = 1, then tan x = ?
Ùeefo tan (x + y). tan (x – y) = 1 lees tan x = ?

(a) 3 (b) 1
2

(c) 1
2

(d) 1

68. If cot A +cosec A = 3, then cos A = ?
Ùeefo cot A +cosec A = 3 lees cos A = ?

(a) 4
5

(b) 1

(c) 1
2

(d) 3
4

69. The angles of elevation of the top of a tree from
the point E and F, situated respectively

towards east and west are 60° and 30°. If the
distance between E and F is 160 feet, then the
height of tree is —
efkeâmeer hes[ kesâ Meer<e& kesâ GvveÙeve keâesCe efyevog E leLee F mes, pees
›eâceMeŠ Gmekesâ hetJe& Deewj heefMÛece ceW efmLele nw, mes 60  leLee 30
nw~ Ùeefo E Deewj F kesâ yeerÛe keâer otjer 160 heâerš nw, lees hes[ keâer
TBÛeeF& nQ—
(a) 40 3 feet (b) 60 feet

(c) 40
3

 feet (d) 23 feet

70. If tan cot ,2  where ( )0 90  then the
value of tan cotn n  is
Ùeefo tan cot ,2  peneB ( )0 90  nes, lees
tan cotn n  keâe ceeve nQ~
(a) 1 (b) 0 (c) 2 (d) n

71. If x
x

x
x

4
4

3
3

1 119 1, ?

(a) 54 (b) 18 (c) 72 (d) 36
72. If a b c a b c6 142 2 2,  and

a b c3 3 3 = 36, then abc = ?
(a) 3 (b) 6 (c) 9 (d) 12

Directions (73 — 75) : The given line graph shows the
percentage increment in the population of 6 states
from 1994 to 1995 and 1995 to 1996. Studythe
following line graph carefully and give theanswer of
the questions.

veerÛes efoÙee ieÙee jsKeerÙe «eeheâ Je<e& 1994 mes 1995 leLee
1995-1996 ceW 6 jepÙeeW ceW pevemebKÙee Je=efæ keâer ØeefleMele oj keâes
oMee&lee nw~ veerÛes efoS ieS «eeheâ keâe OÙeevehetJe&keâ DeOÙeÙeve keâjW Deewj
efoS ieS ØeMveeW kesâ Gòej oW~

73. In 1995, the ratio of population of states C and
D is 2 : 3. The population of state C was 2.5
lakhs in 1994. The population of state D, is 1995
is —
199 ceW jepÙeeW C Je D keâer pevemebKÙee keâe Devegheele 2 3:  nw~ 1994
ceW jepÙe C keâer pevemebKÙee 2.5 ueeKe Leer, lees 1995 ceW jepÙe D
keâer pevemebKÙee nQ—
(a) 7.25 lakhs (b) 5.25 lakhs
(c)  5 lakhs (d) 6 lakhs

74. If the population ofstate B is 5 lakhs in 1994,
then find its population in 1996.
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Ùeefo 1994 ceW, B jepÙe keâer pevemebKÙee 5 ueeKe nes lees 1996 ceW
Gmekeâer pevemebKÙee %eele keâerefpeS~
(a) 11.5 lakhs (b) 11 lakhs
(c) 10.5 lakhs (d) 10 lakhs

75. If the length of a square is 6 2 cm, ten its area
will be —
Ùeefo efkeâmeer Jeie& kesâ efJekeâCe& keâer uecyeeF& 6 2 mesceer.nw, lees Fmekeâe
#es$eheâue efkeâlevee nesiee~
(a) 24 2 cm2 (b) 24 cm2

(c) 36 cm2 (d) 72 cm2

ENGLISH COMPREHENSION &
LANGUAGE

Direction for questions 76 to 78 : In each of the
following questions, one part of the sentence has an
error and the other parts of the sentence are correct.
Find out which part of the sentence has an error and
mark that part as your answer out of (a), (b) and (c). If a
sentence is free from error, then choose your answer
as choice (d)
76. Each of the students (a)/participating in the writing

competition (b)/have to bring his own material.
(c)/No error (d)

77. It is high time (a)/you go (b)/on a diet. (c)/No error (d)
78. The food industry is (a)/beginning to pay

(b)/attention on young consumers. (c)/No error (d)
Directions for question 79 to 81 : Sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternative out of the four.
79. May I give you ……… advice?

(a) an (b) some (c) little (d) one
80. Sneha ……… that the movie was very nice.

(a) argued (b) suggested
(c) asked (d) remarked

81. Your application is ……… as some details are
missing.
(a) rejected (b) refused (c) returned (d) reverted

Directions for questions 82 and 83 : Out of the four
alternatives, choose the one which best expresses the
meaning of the given word.
82. Nimble

(a) Clumsy (b) Agile
(c) Fatuous (d) Honest

83. Wanton
(a) Thoughtful (b) Prudent
(c) Judicious (d) Filthy

Directions for questions 84 and 85 : Out of the four
alternatives, choose the word opposite in meaning to
the given word.
84. Turbulence

(a) Uproar (b) Roughness

(c) Tranquility (d) Commotion
85. Skeptic

(a) Believer (b) Profaner
(c) Apostate (d) Atheist

Direction for questions 86 & 87 : Four alternatives are
given for the Idiom/Phrase underlined in the sentence.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase.
86. Everyone’s got too much work, we are all

sailing in the same boat.
(a) Sailing together in the same boat.
(b) Sharing the financial and social condition.
(c) Being in the same difficult situation.
(d) Get rid of the difficult situation.

87. Ritesh criticizes his father, it makes my blood
boil.
(a) to develop fever
(b) to get excited
(c) to make someone nervous
(d) to make somebody furious.

Directions for questions 88 to 90 : A part of the
sentence is underliend, Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no improvement is required, your answer is (d).
88. One should analyze his mistakes if one wants

to progress.
(a) their (b) one’s
(c) himself (d) No improvement

89. To die with honour is better than live with
dishonour.
(a) living (b) lived
(c) to live (d) No improvement

90. Scarcely did I reach the airport, nervous and
tense, than the plane took off leaving stranded
in an alien place.
(a) when (b) after
(c) then (d) No improvement

Direction for question 91 to 93 : Out of the four
alternatives, choose the one which can be substituted
for the given words/sentence.
91. Excessive desire of talking.

(a) Xenomania (b) Mythomania
(c) Megalomania (d) Logomania

92. A study of animal behaviour.
(a) Ethology (b) Petrology
(c) Eschatology (d) Cytology

93. Specialist of eyes.
(a) Orthodontist (b) Numismatist
(c) Exorcist (d) Oculist
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Directions for questions 94 and 95 : Four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word.
94. (a) Effusion (b) Efusion

(c) Affusion (d) Effsion
95. (a) Hallowed (b) Haloween

(c) Halloween (d) Helloween

Direction for questions 21 to 25 : You have a passage
followed by questions based on it. Read the passage
carefully and choose the best answer to each
question out of the four alternatives.

The Prime Minister recommends the names of the
person for appointment as the members of the council of
ministers are recommended by the President. He can
recommend the name of any person for appointment as
minister. Of course he has to see the interests of his
ministry so that it works in a homogeneous manner. Any
minister who does not see eye to eye with the Prime
Minister has to quit the council of ministers.

The Prime Minister also advises the President on the
allocation of, portfolios, to the members of his council of
minister and thus keep a control over them. The Prime
Minister can make any changes in the formation of his
ministry. He can shuffle his ministry like a pack of cards,
as he likes. He can change the portfolios of his colleagues
or reallocate the portfolios according to their
performance. The Prime Minister presides over the
meeting of the Cabinet. The President does not
participate in these meetings. In the cabinet all the

important decisions are taken which are binding on all
the ministers.
96. ‘Homogeneous’ in the passage means :

(a) consisting of the same substance.
(b) fragmented
(c) united.
(d) working independently

97. The final control is in the hands of the :
(a) Individual Minister (b) Council of Ministers.
(c) President (d) Prime Minister.

98. ‘Colleagues’ in the passage refers to :
(a) Ministers
(b) All the people working in the Prime Minister’s

office
(c) The Prime Minister’s friends.
(d) Co-workers.

99. Who recommends the names of the persons for
appointment as Ministers?
(a) Prime Minister (b) Speaker
(c) President (d) Cabinet Secretary

100.What happens if the Prime Minister and the
Minister have a disagreement?
(a) The President dismisses the Government.
(b) The cabinet resigns.
(c) The Prime Minister resigns.
(d) The Minister quits

Answer key mock 5
1. (a) 2. (a)  3. (b) 4. (d) 5. (a) 6. (a) 7. (b)  8. (b) 9. (d) 10. (c)

11. (a) 12. (a) 13. (b) 14. (c)  15. (b)  16. (c)  17. (b)  18. (c)  19. (b)  20. (a)
 21. (d)  22. (c)  23. (b) 24. (d)  25. (c)  26. (d)  27. (a)  28. (b)  29. (c) 30. (d)
 31. (b) 32. (c)  33. (d)  34. (d)  35. (b)  36. (b)  37. (d)  38. (c)  39. (d) 40. (c)
 41. (d)  42. (d)  43. (a)  44. (c)  45. (b)  46. (a)  47. (b)  48. (a)  49. (d)  50. (b)

51. (c)  52. (a)  53. (d)  54. (c)  55. (b) 56. (b) 57. (b)  58. (b)  59. (d)  60. (c)
 61. (a)  62. (b) 63. (c) 64. (c)  65. (c)  66. (a)  67. (a)  68. (a)  69. (c)  70. (a)
 71. (b)  72. (b)  73. (a)  74. (b)  75. (a)  76. (c)  77. (c)  78. (b) 79. (c)  80. (b)
 81. (b)  82. (d)  83. (b)  84. (b)  85. (d)  86. (c) 87. (d) 88. (c) 89. (b)  90. (b)
 91. (b) 92. (d) 93. (c)  94. (a) 95. (d) 96. (d) 97. (d)  98. (c) 99. (a) 100. (a)
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